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&S X 4 Er‘:ﬂ:c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(gifn:é)é Z 4 -Fﬁﬁgg\gz(ﬁ;k:F _('%r_n_c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(&itr:f)é
7 100kN/m##x5 | 1.00 | 0.00 ~ 281 144.45 |3m%E#BZ S -~ - 100kN/mM&#z25 | 1.00 | 1061 ~ 2612| 144.45 |3mZE#Bz5 ~ -
s 1.00 | 281 ~ 1060 100.00 | =St | 0.00 ~ 1060 2.97 14.99 st 1.00 | 6.00 ~ 1061 100.00 | =nst | 6.00 ~ 2612| 2.97 14.99
2 100kN/mM##BZ5 | 1.00 | 000 ~ 274 143.16 |3m%E#BZ 5 -~ 100kN/mM&#z25 | 1.00 | 10.73 ~ 2694 14316 |3mZ#Bz5 ~
s 1.00 | 274 ~ 1052 100.00 | #=nlst | 0.00 ~ 1052 2.92 14.756 st 1.00 | 6.00 ~ 10.73 100.00 | =nst | 6.00 ~ 2694)| 2.92 14.756
3 100kN/mM%#BZ 5 ~ -|3mEBZD ~ 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 6.02 75.50 | NS | 000 ~ 602\ 1.87 947 st 1.00 | 6.00 ~ 713 75.50 | ThSY | 6.00 ~ 7.13| 1.87 947
4 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 5.74 71.75 | =S | 0oo ~ 574 1.83 9.27 st 1.00 | 6.00 ~ 6.53 71.75 | ThSY | .00 ~ 6.563 | 1.83 927
5 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 495 61.70 | FnLSY | 000 ~ 495| 1.82 922 st 1.00 | 6.00 ~ b5.34 61.70 | Thst | 5,00 ~ 634 1.82 922
P 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/mM%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 5.04 62.84 | FnLSY | 0.00 ~ 504 | 1.93 974 st 1.00 | 6.00 ~ 5.79 62.84 | Thst | 6.00 ~ 6579 1.93 9.74
- 100kN/m%E#8z% | 1.00 | 000 ~ 1.12| 116.92 |3mE#8Bz% ~ 100kN/m%&#8z25 | 1.00 | 11.27 ~ 1578 116.92 |3mZ#Bz25 ~
s 1.00 | 1.12 ~ 891 100.00 | =nst | 000 ~ 891|219 11.08 st 1.00 | 6.00 ~ 1127 100.00 | =nst | 6.00 ~ 1578 2.19 11.08
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 000 ~ 737 95.97 | =S | 000 ~ 7.37| 2.03 10.24 st 1.00 | 6.00 ~ 1001 93.97 | #h4 | 5.00 ~ 1001 2.03 10.24
9 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 5.12 63.83 | T4t | 0oo ~ 000 | 1.569 8.05 st 1.00 | 6.00 ~ b5.77 63.83 | TSt | 6.00 ~ 56577 1.69 8.05
10 100kN/mM##BZ5 | 1.00 | 000 ~ 180 127.71 |3mZiBAD ~ 100kN/m%&#z25 | 1.00 | 1055 ~ 1689 12771 |3mZz#z5s ~
s 1.00 | 1.80 ~ 9.59 100.00 | =4 | 000 ~ 959 | 2.41 12,17 st 1.00 | 6.00 ~ 1055 100.00 | FnLsy | 6,00 ~ 1689 2.41 1217
11 100kN/m%E#8z5 | 1.00 | 000 ~ 222| 13448 |3mE#Bz% ~ 100kN/mM&#z25 | 1.00 | 1053 ~ 1934 134.48 |3mZ#Bz5 ~
s 1.00 | 222 ~ 1000 100.00 | =nst | 0oo ~ 1000| 238 12.03 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1934| 2.38 12.03
12 100kN/mM%E#BZ5 | 1.00 | 000 ~ 184 12830 |3m%E#BZ 5 ~ 100kN/m%#8%% | 1.00 | 10.63 ~ 17.81 128.30 [3mZE#EZ 5 ~
s 1.00 | 1.84 ~ 962 100.00 | #nst | 0.00 ~ 9.62 | 2.30 11.64 st 1.00 | 6.00 ~ 1063 100.00 | =nst | 6.00 ~ 1781] 2.50 11.64
13 100kN/mM%#BZ % ~ -|3mEBZD ~ 100kN/m%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 6.16 77.31 | FnLSY | 000 ~ 000|177 8.93 st 1.00 | 6.00 ~ 711 77.31 | ThRSY | 6.00 ~ 711|177 8.93
14 100kN/mM##Bx5 | 1.00 | 000 ~ 0.74 110.98 |3m%Ei#BZ D ~ 100kN/m%E#25 | 1.00 | 1060 ~ 1270 110.98 |3m%E#Z5 ~
s 1.00 | 0.74 ~ 852 100.00 | =nlst | 0.00 ~ 8562|225 11.37 st 1.00 | 6.00 ~ 1060 100.00 | =nst | 6.00 ~ 1270 2.25 11.87
15 100kN/mM%#BZ5 | 1.00 | 000 ~ 159 124.31 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 1053 ~ 16.03| 124.31 |3mZ#Ez5 ~
s 1.00 | 1.59 ~ 9.38 100.00 | #=nlst | 0.00 ~ 9.38| 2.36 11.92 st 1.00 | 5.00 ~ 1053 100.00 | F=nLsYy | 6.00 ~ 16.03)| 2.36 11.92
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16 100kN/m%E#8z5 | 1.00 | 000 ~ 217| 13370 |3mE#8Bz% -~ - -] 100kN/ %825 | 1.00 | 1055 ~ 1942 13370 |3m%E#Bz% -~ -
s 1.00 | 217 ~ 996 100.00 | #=nst | 0.00 ~ 9.96 | 2.54 11.82 st 1.00 | 6.00 ~ 1055 100.00 | =St | 5.00 ~ 19.42| 2.54 11.82
17 100kN/m%E#BZ5 | 1.00| 000 ~ 198 130.58 |3mEEZD -~ -1 100kN/mZ#8z% | 1.00 | 10.57 ~ 1836 130.58 |3mZ#Bz25 -~
s 1.00 | 1.98 ~ 9.77 100.00 | #nst | 000 ~ 9.77 | 2.33 11.76 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1836| 2.33 11.76
18 100kN/m%E#BZ5| 1.00| 000 ~ 035 10512 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 10565 ~ 11.47| 10512 |3m%E#Bz% -~
s 1.00 | 035 ~ 813 100.00 | #nlst | 0.00 ~ 813 | 2.20 11.14 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 11.47| 2.20 11.14
19 100kN/m%EBZ5| 1.00| 000 ~ 036 10536 |3mEEZD ~ -] 100kN/mZ#8z% | 1.00 | 10.66 ~ 11.70| 105.36 |3mZ#Bz25 -~
s 1.00 | 036 ~ 815 100.00 | =St | 000 ~ 815 2.11 10.67 st 1.00 | 6.00 ~ 1066 100.00 | =nst | 6.00 ~ 1170 2.11 10.67
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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